
 

BMWS1000RR 
         2019–2023 

Part Nr. 517FRV 
 

excentr 820 + 
M6 x 20 DIN7991 

M8 x 70 DIN6921 
+ 123222808 

+ 517M 

S0202 
S0200 conversely 

 + 2x M6x40 DIN7984 
+ 2x 123121406 

517M 

M6 x 50 DIN7380 
+ 123121706 
+ M6 DIN985 

M10 x 1,5 x 30 
DIN912 

M6 x 12 DIN7991 

813LB 

M6 x 20 DIN7380 
+ 817  

+ 123120506 

 

901 

M6 x 30 DIN7380 

+ M6 DIN985 

807Z + 
M8 x 20 DIN912 

810R + 
M6 x 25 DIN7991 

M6 x 12 
DIN7991 

M8 x 50 DIN7991 
+ M8 DIN985 

807Z + 
M8 x 20 DIN912 

818040 +  
M8 DIN934 813RE 


